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Volume - the amount of space within an object.

Surface Area - the number of square units needed to cover
the exterior of an object.

Capacity - the amount (volume) a container can hold.

Simple Conversions -

1litre = 1000m) - Liquid example (miik)
1litre = 1000cm” - Solid example (sand)
iml = 1em?
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Use your formula sheet to complete the following questions based

on 3-D shapes.
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C ] Volume of Prisms oo
and Pyramids

Where necessary, round your answers to one decimal place,

1. Find the volume of each prism.

Areaofbase=length><width 123.9;
A= cmX _____cm 15‘;"

= —_— +——— 85 oM ———s
The area of the base is

Volume = area of base X height
V=__ _em®X____cm

The volume of the prism is

2, Findthevolumeoftheprism. h
> D Area of triangular face (or base) = ?bh

k A=%( in)( iﬂ)

The area of the triangnlar face is 18in. A
Volume = area of base X height 1 /

— 2ip, —».

V=__ _in2X___ in

=
———————

The volume of the prism is
3. Find the volume of the pyramid.
Area of base = length X width .
A= ft X ft
The area of the base is on

Bon
Volume of pyramid = 31 area of base X height

1
) V= —3-( ﬂz)( ft)
K‘_ =
The volume of the pyramid is




- Volume of Prisms oR

>

and Pyramids m
Where necessary, round your answers to one decimal place. L /§JJ

1. Find the volume of each prism.

Area of base = length X width 1202
A= g‘bcm X .&cm ]
X : 2 5cm -
= 1Uab cm ‘ =

-— 85cm —

2
The area of the base is _]C2Lcm
Volume = area of base X height
V=03 cm2x 2 cnm
= lS3g z iC'ng

3
The volume of the prism is _! S 3( Dem

2. Find the volume of the prism.
Area of triangular face (or base) = lbh

2
A= —(_lf_m)( A2 in.)
= lig In
95 ..
The area of the triangular face is __/ i) . 18in. i
Volume = area of base X height 1 = /
v = 07§ in2x 14 in N

= 8[!& )fl\k

Ca
The volume of the prism is g Z [d in

3. Find the volume of the pyramid. ;
70 ft

Area of base = length X width
=39 fx 2 g
= 730 {4
= o}
The area of the base is __ 7 5( 11 . 201
Y

Volume of pyramid = % area of base X height
V=— (lKD_ftz)( 10_f
zS 280 €3
L i
The volume of the pyramid is J& 260 £/
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